Y7 Developing Number Sense
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By the end of this unit you shouid be able to:
*  Pnow and use mental addition/ subtraction
*  Hnow and use merttdl mutiplcation/ dwision
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I «  Frow and use mentdl arthmetic for decimas : :
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Ossociative: vihen you add or multigly you can do so regardiess of how the numbers are grouped I
Dividend: the number being diided |

Fnow and use. menttdl arithmetic. for fractions Divisor: the. number we. divide by :
Use factors to simplfy cakulations |
Use estimation to check merital caculations |
*  Use number facts |
»  Use dlgebraic facts |

Expression: a maths sentence with a minmum of two numbers and at least one math operation (o equals sign
Equation: & matnematical statement that two things are equal
Quotiert: the resutt of a divsion
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Mental methods for addition/ subtraction 11 Mental methods for multiplcation/ division |
Ockition is commutative Subtraction the order has to stay the same ” Millipleation 's commutative Partitionng can help multipication

0 O o o0 360 - 147 = 360 - 100 — 40 — 7 I :: A4x6=A0x6 + 4x0

o0 + O ®+ 00 o0 YY1 = LQO*Q‘l
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6+ 3 -3 + b ord subtraction [ & x4 - 4 =2 Division i not. associative
The. order of addtion does not I The order of Churking the. duision can help 4000 + 25
change. the. resut * Working in 10s first aids I : multiplcation does not How mary A5 n 100" then how many chinks
mental addition/ sustraction h change the resut of that n 4000
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| Mental methods for decimals I Mental methods for fractions  Use bar modeks where possbe

|I”bmpymg by a decmal < | wil make. the ongndl vaue smaler  egx 01= =10 | |
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Methods for multipication 12 x 003 I e —
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| Methods for division 15 + 005 11 |
12x3=36 12 x3= 36
: a2x3-3€ |[+10] +100| 1000 | Mitiply by powers of 10 unti the | | How mch i they have o begn wit? |
| 12 0030036 | 12x 003- 0036 duisor becomes an inteser | «——Eth—s :
: Methods for addition 2324 [ T J : : 1 | whasloer :
| 032:0?4::40.7 12023 =30 I % t = I
44+07=47 3
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 Using factors to simpify cauidtions | oxsxaxs | 0x3x2x8 | Mitpication s commutale :
: 50)( |6 [ Ax5x3xaAxax2x2 ][ 6x 10x 3 ] Factors can be multipled in any order |
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| Estimation | | Nomber focts | | Qlgebraic facts |
| Estimations are useful — especidly when usng fractions ke i [
| and decimak to check i your solution & possble : : [ 4 x5 - 620 ] [ : [ 2+b-10 ] Eventhing x 2 :
I |
I Most estimations round to | significart. figure I For mutiplcation, each valve that s I [ 0la+0b-05 ]l
| | : multipled or didded by poers of 10 needs || - : :
| Estimations are. useful — especidly when (sing fractions : | to happen to the resul | : / et = € |
| ond decimas to check f your solution s pessible | a+b-5 I
! (aewin ) I
! ! = 1 |
| [ ao0-smcno | i 1 |
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|1 Fordusion you must consider the impact of The urknonn ——
: Thlgwlzg‘zmm; e’;;?g I;Z'Joéhrzu;hbm [ the. diisor becoming smaller or biager : : quantily en't e
| 300 P 200 N Smaler — the. answer wil be. bigger 1 changng but the [ arb+Ad=7 ] |
| (it s being shared ito kss parts) varcbks change I
| The correct estimation would be 9 s I it s cone 1o |
[ 200+ 900 - 1100, I Bigger — the. answer wil be, smaler 1 tre restk
I ' : : (it is beng shared into more parts) T :
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